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Paper : MINFIN2

( Cost Accounting )

1. (o) = FEER M @ Ry foran 1x4=4
Write True or False of the following :
() fS e ARasTer 45 &9 2 A |

Variable cost per unit remains
constant.

(i) T R T AR RS AT (0
I fRp1oR e = |

Cost accounting is not needed if
prices are beyond the control of the
firm.
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(2)

(ii})  CRAR 3G (FoTS AT |
Service costing is applicable in
canteens.

(iv) @ 9D TW OTH TmS TS T
TATT A X TZ 79 T |
Machine hour rate method of
absorption is suitable where major
portion of production is performed
by machine.

(b) <IN 5% 719 9 ¢ 1x4=4
Fill in the blanks : ‘
(i) I8 f2oreet SAfrET T 3 O A7
IEN
Cost accounting provides data for
managerial :
(i) Tgre REPHza 3o MR FIFO *f&fS

SES TN |
FIFO method of valuing material
issues is suitable in times of
(i) (% XA GRIFER 136 @Ol % |
A landline telephone expense is
cost.
(iv) =35 Somere e I [ TS 2
<O |

The method of costing applied in
biscuit industries is costing.
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2. o IRRR ® == v <*7% 59 GBIl forst

4x4=16

Write short notes om any four of the
following :
(a) I =

Cost Centre
() TzTT ==

Material Loss
(c) SfeRe ==

Overtime
(d) ABC Rg=s=

ABC Analysis

(e) TI= f&fTm s “Remw
Rowan Premium Bonus Plan

() AR =1 T
Causes of Labour Turnover

3. () IR CERe== T== w@? W
A= R 5% == /@17 I3[
R = = 4+6+4=14
What do wyou understand by cost
classification? Discuss the various
bases of classification of costs and
various types of costs.
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(4)

<1/ Or

(b) 2023 5T eI T I B PN 2
91 AR AfS G5 ARIR o TR IN SE
w5 (AR T G oS 91| wee RF

o wre] 9 RolfR Sferea :

5+4+3+2=14

Prepare a Cost Sheet to show the total
cost of production and cost per unit of
goods manufactured by a company for
the month of July 2023. Also find the
cost of sales and profit :

B (7)

01.07.2023 3,000
Stock of Raw

Materials, 01.07.2023
CESEE & 28,000
Raw Materials purchased
FOHEH BT,

31.07.2023 4,500

Stock of Raw
Materials, 31.07.2023

e T 7,000
Manufacturing Wages

PR el 500
Office Rent

SR A0 400
General Expenses

& @22 300

Discount on Sales

24P/1178

= (T
A5 ST 1,50
Depreciation on Plant
2r5a «o1 i RFR
TS (2RI (O 30
Loss on Sale of a
part of Plant
FRIEE O HF I 3,00

Factory Rent and Rates

e 3 m 60
Advertisement Expenses
R AReN 2,00
Income Tax Paid
& 50,0
Sales
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(3S)

2023 =% =3 T tww Seoffie RofinY
W =WEE 30000 e TEAR
8¢ 01072023 =fe 200 9=
31.072023% === 400 LG
01.07.2023 =% T2e <3 TG T
I/ TEE 2,800 31 £ SHEER TR

= R o
oe%e B (3=

The number of units produced during
July 2022 was 3000. The stocks of
finished goods were 200 and 400 units
on 01.07.2023 and  31.07.2023
respectively. The total costs of the units
on hand on 01.07.2023 was ¥2,800. All
these had been sold during the month.

4. (0) TTTE TEE e T TR0 TR Gz
Rramovs TmmaEmn s 3+3+8-14
What do you mean by material control?
What are its techniques? Discuss its
significances.

(b) <== ==F 80 ¥H ¥ T G INT IR

2-50 5% =T w5 | FEERT TR e oEe
IR [IRT TR TeR HEO SR PN
Y N T TE T5< W R4 2+3+3+6=14

A worker takes 80 hours to do a job for
which the time allowed is 100 hours.
His daily rate is #2-50 per hour.
Calculate the works cost of the job
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under the following methods of payment
of wages and statement of works cost
and calculate the wages :

(i) 3<¥9 T] / Time Rate
(i) == “RFF / Halsey Plan
fiii) 3I’I ARFEN / Rowan Plan

FoRe 02 :
Additional Information :
(1) >T=IF 276—120 531
Material cost—¢ 120
(2) IRIFR 490 TGRI 125%
Factory overhead 125% of wages

5. (@) TR | o 2| Py I [ 7 I
R 391 =72 Tk IRT SR we I
CTRAT FIEPRR R F47 | 7+7=14
What factors would you consider for
determining the overhead absorption
rate? Explain the causes of over- and
under-absorption of overheads.

{1/ Or

(b) ©oR RIIIR ~[@1 @b =g g X1 T Ao
90 _ 14
From the following particulars, compute
a comprehensive machine hour rate :

() o= I—1,00,000 5l
Cost of machine—¥ 1,00,000
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(7))

T ea = = gf_ls 253

- =

S $99—10,000 59

Residual value—7 10,000

== *?*u?f““ﬁﬂm#ﬁ??ﬁ
ZTE (T4 2040 57 SRR qE
Machine running hours 2040 hours
per machine per annum including
idle time of 40 hours due to repairs
anc maintenance and breakdown of
machine

o o

(i) @2 =Te T = wHe—20 T/RG ;
< 27 4 100 TTR5—80 T
Power consumption of the machine
per hour—20 units; Rate of power
per 100 units—F 80

(iv) m’%z@tmtfwmwzﬁ

@R TREE 99 959 HoIHN B
12,000 557 =% 3=3%
There are two operators in the
shop and wage of an operator who
is in-charge of two machines is
12,000 p.a.

(v) TR =TE, TR TF 9 9= 4,800 57
Rent, rates and taxes of the shop—
¥4,800 p.a.
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(vi) o A [ R ofe taPree
400 B
Insurance  premium for the
machine—? 400 per quarter

i) =76 T TR (IZH ITE 600 5
General lighting per month—¢ 600

i) A AR ARSI THACTTT O
400 51 4fS @IS

Repairs and maintenance €xXpenses
per month—< 400 per machine

(ix) o T ORI TR A WM
1,500 5

Shop supervisor’s salary  per
month—¢ 1,500

() G T =R 6,000 TI SEUF
FRAFR Toif e SRGs
Other factory overhead allocated to
the shop—¥ 6,000 p.a.

@ e SRl R o SR
TERYECE R PR L o 1o
SERYT A0 I I |

There are four identical machines in the
shop. The supervisor devotes %th of his
time for supervising the machine.
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What do you mean by contract costing?
Discuss different types of contract. Also
explain how contract costing is different

from job costing.
5531/ Or

IR T FEe TR | Al AfEe 3
€59F 2% (3913 TE =E 10% SRS = Ry
1 IF 2 #fewk %@ #f5 57 100 59 ue

ATET 33 %9 2fE 5w 20 59 AS | |

R o e e fal W

I 91 = -

Bengal Chemical Co. Ltd. produced
three chemicals during the month of
July 2023 by three consecutive
processes. In each process, 2% of the
total weight put in is lost and 10% is
scrap which from Processes—1 and 2
realize ¥ 100 a ton and from Process—3
20 a ton.
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The products of three processes are
dealt with as follows :

afFm—1  efEE—2  AfFn—3
Process—1 Process—2 Process—3
oRTE! ARFIA CRAIFA™  75% 50% —
Passed on to the
next process
RER IR TR R 25% 50% 100%
Sent to warehouse for sale
af—1 Alaz—2 aAfw—3
Process—1 Process—2 Process—3
4 tons ¢ tons T tons
& 1,20,000 [ 1000|28,000( 140 | 1,07,840 | 1348
Raw
Materials
Teom ¥gR | 20,500 | — |18,520f — | 15,000 | —
Manufac-
turing
Wages
TS I/ 10,300 — 17,240 | — 3,100 —_
General
Expenses
2ARSCO1 Beoa 2lfS Be w9 (TR “afer w9
211’ orge 41 | 1%
Prepare Process Cost A/cs showing the
cost per ton of each product.
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Paper : MINMKT2
( Advertising Management )

1. o epRees =% = 1x8=8
Answer the following questions :

(@) WOM T 7%= faay |
Write the full form of WOM.

(b) PPC 3 =453 7741 |
Write the full form of PPC.

(c) AIDAZ =73 o4t |
Write the full form of AIDA.

(d) AT EES HHReLE T R T [ 2

Which is the most effective media of
advertisement in rural society?

(e) ez <& =% =1

Write one feature of advertisement.

() REms 25=-T053 I 9Re] e o |

Give an example of advertising media
vehicle.
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(g) ST b1 EEANE o ©Ycd RereE o[
3E, o I R = ?
When a company gives false message in

advertisement, then is it known as
what?

(h) POP @71 =+ 9ol 7% % 2

What is the other name of POP
advertisement?

2. w=e i Rewmes [ @ ofbR eee 59 G

o 4x4=1
Write short notes on any four of the
following :

(a) DAGMAR YoM
DAGMAR approach

(b)) R&w I

Sale promotion
(c) 2PR-TLNT ICHO

Media budget
(d) RS REeE

Word-of-mouth of advertising
(e) SSR-TYI At

Media class

(N Ao
Segmentation
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3. (o) FEw= = 5 <5 TR MRTe ReErms
&FF TE 39 4+10=14
Define advertisement. Discuss the

significance of advertisement in a
business organization.

<1/ Or »
(b) T==m #Rew 0 Rerm AResaR diemm
RECE SICTo 41 | 4+10=14

What is advertising planning? Discuss
the advertising planning process.

4. (a) <SFAFC ITIFIT QA {ﬁza & 3T 2
[RE =0 4+10=14
What do you mean by integrated
marketing communication? Explain
different elements of integrated
marketing communication.

%<1/ Or

(b) TR GTII, FEETE W W AR
e TE S =S o B qw o R
% ETTe IHR ST TS A Bl 1 14
What do vou understand by market
segmentation, targeting and posi-
tioning? What are the importances of
market segmentation in advertising
process?
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5. (o) TEES 57 W M CUOR TCACS SR
3w Ta e 7 Sfem 52 ?
4+10=14
What is attention? What are the
practices followed by advertisers to draw
attention of target audience?

5yqr/ Or

B BEeAR SRR, P‘Q A e e wY
e e FRkew o 14
Write in detail about advertisement

recall, comprehension and interpreta-
tion.

6. (@ TE P B W 4B ©& IEE T
TomerTR & R 2 4+10=14
What do you understand by message?

What are the major elements of a good
message?

41/ Or

(b) Rerme woE-Tgd %2 Rerme gege [fen
TR B - TR {CT AT 1 | 14
What is media in advertisement?
Discuss different types of media used in
advertising.
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Paper : MINHRM2
( Labour Welfare )

1. (a) o fFEER aF R oRasa: 1x4=4
Fill in the blanks of the following :
(i) TE TR IR GG S

means all those efforts to
make life worth living for workmen.

(i) SRET TRY T, 1948 TP Q@10
__ e fanm e w1 ke |
The Indian Factories Act, 1948
made it mandatory to appoint

qualified _____.
(i) B s = «F geRw
AP |
Vestibule training is a type of
training.
(iv) EFR @ e dfedee g%

AR |

' is an unexpected occurrence
in an industrial establishment
causing bodily injury to one or more
persons.
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(b) TS FEIER ¥R CR N CRGRIE 1x4=

Write True or False of the following :

fi) TR e R Rl CCRAIRISIK
HF SEDAE 6% I |

Counselling is an act of communi-
cation and discussion among
concerned parties.

(i) T R 9 XA G4 TS S
e Folfe IR T |
Social security refers to the

provision for security of life and
property in a society.

(iii)W%WWmﬂﬁmm
fran

In social insurance, contribution is
made only by employers.

(iv) 1961 W o @RS «3e
wareae PRer [ g fEa
ey 9 (R
The Maternity Benefit Act, 1961
deals with providing medical
insurance to employees.
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2. TS AR B @ R @RS 5y Gl e
4x4=16
Write short notes on any four of the
following :
(@) =EE TT9
Social Assistance
(b) TR @S
Accident Proneness
() TR ISR
Employee Counselling
(d) =4 = =
Group Insurance Scheme
(e) AR SO
Public Service Scheme
() cSEgE =GP rmfe
Vestibule Training Method

3. (a) FR-OR I WF FETOR ey o SRR
ufEE TR e s Rerr Rac wscamwn
911 14
Discuss the history and development of
labour welfare in India during the pre-

Independence and post-Independence
era.

124P/1 178 ( Turn Over )




e

(b)

(b)

(b)
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531/ Or

= TR QR SR SIE SR TR P91

Explain the concept, objectives and
importance of labour welfare.

=T ofme 52 woR efreR R
safeq R SCEm 941 |
What is employee training? Discuss the

various methods of employee training.

<1/ Or

s 7o 7 Soulae TN PR SIE
oo REE D 391 |

What is industrial accident? Discuss the
causes and effects of industrial
accidents.

e T PR FEAA AR, 19483
SRS 4! FRYEPTR IR 0

Explain the provisions under the
Factories Act, 1948 regarding the safety
of workers.

w591/ Or
Wwﬁ?mWWQwﬁm

HICEA 41 4+10=

What is social security? Discuss its
scope and importance.

( Continued

|




6. (a)
(b)
| 24P/1178

( 19)

b3 ZEe REE = 90 14
Discuss the implications of various

legislations and schemes for social
security in India.

371/ Or
e s il =R TR WE SRee
Toera Rifen e Reew swcamsn <41
Discuss the various provisions available

in India for welfare of female and
construction labour.
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Paper : MINBNI2

( Principles of Insurance )

1. w=e PUEE wE ( wew o 1x5=
Write True or False of the following :

(@) FEEE T ST =R W QAP I
SHEF S |

The main purpose of reinsurance is to
maximize profits for insurers.

(b) a—%%ﬂﬂﬁﬁ%aﬁmi’aﬁrﬁﬁ
offarfoq TSI |

One of the characteristics of non-life
insurance policy is limited policy
duration.

(c) WW‘F{WQ’?IWWQ?
e 90

The main function of insurance
regulators is to fix insurance premium
rates.

(d) = IR FOISI I @R
Group insurance has higher coverage

limit.

(e) @ @ A e e WL GRS
R FOEE I A |
Whole life policy provides coverage for
the entire life of the insured.
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2. e fFEEER wF 5% R 9 1x3=3
Fill in the blanks of the following :
(a) IR T FpR Do IR |WE
e ofS it 9 aifes =1fdm o

principle of insurance states that
the insured must have a financial
interest in the subject matter of the
insurance.

(b) IR v W FETEE TR w0 T e
= &

An insurance contract defining its terms
and conditions known as _____

(c) oo &= [ fow _ a=me afow
cafee |
Life Insurance Corporation of India was
established in the year _

3. oS AR R e Bi6R @ofew 5y G forar -

4%x4=16
Write short notes on any four of the
following :
(a) JETR AN

Rider Premium

(b) ST T
Surrender Value
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(@)

(e)

(b)
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Insurance Life Cycle

FRER RATR
Benefits of Annuity

o SifarT S
Principles of Utmost Good Faith

Tof-forces 1 <

Unit-linked Insurance Policy

e TR AW IJEE fFe o oW
WWWWW’I 4+10=14
What is risk management by indivi-

duals? Discuss about the different
classes of insurance in detail.

]/ Or
R (TN weffes TS Az \;:ﬁiﬂ

o S 91 14

Discuss about the role played by
insurance in the economic development
of our country.




(b)

(b)
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TS TR O wive [idw w5 0 it
w == 14
Discuss about different types of
insurance personal associated with
commercial insurance.

<1/ Or

SETT S M EPHR R W 3R
e R o for |

Write a detailed note on the evolution
and growth of Life Insurance
Organizations in India.

4[R2 P WK Ry W NeARmER
R e 741 1 3+7+4=14

What is group insurance? Discuss the
advantages and limitations of group
insurance.

9}/ Or
oS TR << %4 7+7=14
Explain the following :
() SRR 37 T -1 I
Surrender Value vs Paid-up Value

(@) T IF T AR =m @re W
iz 2ifefd

With Profit Policies wvs. Without
Profit Policies
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7. (@) T84 N F2 9-&ea [0 ofbe @@
S RUPRRI REC SCEs 4 | 3+11=14
What is non-life insurance? Discuss the

features and benefits of non-life
insurance policy.

32«1/ Or

(b) ST N ¥e FEZR (Fqo IRDAI el ‘,
[ SRR R e 41 | 14 |

Discuss the power and functions of
IRDA in regulating Indian insurance

sector.
<1/ Or
(c) SRS I IS o ToAMFTIR FI 1 | 14

Explain the main constituents of the
insurance market in India.

% % ok
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